



Class of Functions Satisfying the Holder Condition

Urazaliyev Shirinboy Buron ogli

SamIES

shirinboy.urazaliyev@mail.ru

Abstract: $\varphi(t_1, t_2, \dots, t_n)$ is about the satisfaction of the Golder condition in the multivariable complex plane.

Let the function $\varphi(t)$ be defined in a Δ -domain.

Keywords: If $\varphi(t) = \varphi(t_1, t_2, \dots, t_n)$ is a function such that, for points in the domain $\varphi(t) = \varphi(t_1, t_2, \dots, t_n)$.

$$|\varphi(t) - \varphi(\tau)| \leq \sum_{k=1}^n A_k |t_k - \tau_k|^{\alpha_k} \quad (1)$$

then the function $\varphi(t)$ is said to satisfy the Holder condition in Δ , where A_k ($k = \overline{1, n}$) are positive constants known as the Holder constants, and α_k , $0 < \alpha_k \leq 1$ ($k = \overline{1, n}$) - are the invariant exponents satisfying the inequality, which are called the Holder exponents

We define the class of functions that satisfy the Holder condition as $H_{\alpha_k}(\Delta)$.

If $\varphi(t) \in H_{\alpha_k}(\Delta)$, то $\varphi(t) \in H_{\beta_k}(\Delta)$ ($\beta_k < \alpha_k$, $k = \overline{1, n}$).

Indeed, according to the condition $\varphi(t) \in H_{\alpha_k}(\Delta)$;

$$\begin{aligned} |\varphi(t) - \varphi(\tau)| &\leq \sum_{k=1}^n A_k |t_k - \tau_k|^{\alpha_k} \\ \sum_{k=1}^n A_k |t_k - \tau_k|^{\alpha_k} &= \sum_{k=1}^n A_k |t_k - \tau_k|^{\alpha_k - \beta_k} \cdot |t_k - \tau_k|^{\beta_k} \leq \\ &\leq \sum_{k=1}^n \check{A}_k |t_k - \tau_k|^{\beta_k} \Rightarrow \varphi(t) \in H_{\beta_k}(\Delta) \end{aligned}$$

It follows from this that.

1-Theorem. The function $\varphi(t)$ satisfies the Holder condition (1) in Δ other for each argument t_p для t_k ($p \neq k, k = \overline{1, n}$) with respect to the arguments is flat necessary and sufficient to satisfy the Holder condition.

Proof. Indeed, $\tau_k = t_k, k = \overline{1, n}, p \neq k$, when

$$|\varphi(t) - \varphi(t_{\tau_p})| \leq A_p |t_p - \tau_p|^{\alpha_p}, \quad p = \overline{1, n} \quad (2)$$

will be appropriate. Similarly, it is not difficult to prove the following inequalities:

$$\begin{cases} \left| \varphi(t_{\tau_p}) - \varphi(t_{\tau_{pq}}) \right| \leq A_q |t_q - \tau_q|^{\alpha_q}, & p, q = \overline{1, n}, p < q \\ \left| \varphi(t_{\tau_{pq}}) - \varphi(t_{\tau_{pqr}}) \right| \leq A_r |t_r - \tau_r|^{\alpha_r}, & p, q, r = \overline{1, n}, p < q < r \\ \left| \varphi(t_{\tau_p}) - \varphi(t_{\tau_{pq}}) \right| \leq A_q |t_q - \tau_q|^{\alpha_q}, & p, q = \overline{1, n}, p < q \\ \left| \varphi(\tau) - \varphi(t_{\tau_p}) \right| \leq A_p |t_p - \tau_p|^{\alpha_p}, & p = \overline{1, n} \end{cases} \quad (3)$$

(3) taking into account the system of inequalities

$$|\varphi(t) - \varphi(\tau)| \leq |\varphi(t) - \varphi(t_{\tau_1})| + |\varphi(t_{\tau_1}) - \varphi(t_{\tau_{12}})| + \dots + |\varphi(t_{\tau_{n-1},n}) - \varphi(t_{\tau_n})| + |\varphi(t_{\tau_n}) - \varphi(\tau)|,$$

The inequality implies the statement of the theorem. $\square$

Some sums are used later.

$$\varphi_n(\tau; t) = \varphi_n(\tau_1, \tau_2, \dots, \tau_n; t_1, t_2, \dots, t_n)$$

we define the following sum through

$$\begin{aligned} \varphi_n(\tau; t) = & \varphi(\tau) - \sum_{p=1}^n \varphi(\tau_{t_p}) + \sum_{p=1}^n \sum_{q=1}^n \varphi(\tau_{t_{pq}}) - \cdots + \\ & + (-1)^{n-2} \sum_{p=1}^n \sum_{q=1}^n \varphi(t_{\tau_{pq}}) + (-1)^{n-1} \sum_{p=1}^n \varphi(t_{\tau_p}) + (-1)^n \varphi(t), p < q \quad (4) \end{aligned}$$

from this $\varphi_n(\tau; t) = (-1)^n \varphi_n(t; \tau)$ (5)

It is easy to check the correctness of the equality.

For example, when $n=3$

$$\begin{aligned} \varphi_3(\tau; t) = & \varphi(\tau_1, \tau_2, \tau_3) - \varphi(\tau_1, \tau_2, t_3) - \varphi(\tau_1, t_2, \tau_3) - \varphi(t_1, \tau_2, \tau_3) + \\ & + \varphi(\tau_1, t_2, t_3) + \varphi(t_1, \tau_2, t_3) + \varphi(t_1, t_2, \tau_3) - \varphi(t_1, t_2, t_3) \end{aligned} \quad (6)$$

$$\varphi_n(\tau_{t_p}; t) = \varphi_n(\tau_1, \tau_2, \dots, \tau_{p-1}, t_p, \tau_{p+1}, \dots, \tau_n; t_1, t_2, \dots, t_n)$$

through this

$$\varphi_n(\tau_{t_p}; t) = \varphi(\tau_{t_p}) - \sum_{\substack{q=1 \\ q \neq p}}^n \varphi(\tau_{t_{pq}}) + \sum_{q=1}^n \sum_{\substack{r=1 \\ q, r \neq p \\ q < r}}^n \varphi(\tau_{t_{pqr}}) - \cdots +$$

$$+(-1)^{n-3} \sum_{q=1}^n \sum_{\substack{r=1 \\ q,r \neq p}}^n \varphi(t_{\tau_{qr}}) + (-1)^{n-2} \sum_{\substack{q=1 \\ q \neq p}}^n \varphi(t_{\tau_q}) + (-1)^{n+1} \varphi(t) \quad (7)$$

Sum (7) has 2^{n-1} terms and is constructed similarly to (6), but with one less term.

When $n = 3$, the representation of (7) looks like this:

$$\begin{cases} \varphi_3(\tau_{t_3}; t) = \varphi_3(t_{\tau_{12}}; t) = \varphi(\tau_1, \tau_2, t_3) - \varphi(\tau_1, t_2, t_3) - \varphi(t_1, \tau_2, t_3) + \varphi(\tau_1, t_2, t_3) \\ \varphi_3(\tau_{t_2}; t) = \varphi_3(t_{\tau_{13}}; t) = \varphi(\tau_1, t_2, \tau_3) - \varphi(\tau_1, t_2, t_3) - \varphi(t_1, t_2, \tau_3) + \varphi(t_1, t_2, t_3) \\ \varphi_3(\tau_{t_1}; t) = \varphi_3(t_{\tau_{23}}; t) = \varphi(t_1, \tau_2, \tau_3) - \varphi(t_1, t_2, \tau_3) - \varphi(t_1, \tau_2, t_3) + \varphi(t_1, t_2, t_3) \end{cases} \quad (8)$$

Similarly, $\varphi_n(\tau_{t_{pq}}; t)$, $\varphi_n(\tau_{t_{pqr}}; t)$, ..., $\varphi_n(t_{\tau_{pq}}; t, t)$ and $\varphi_n(t_{\tau_p}; t)$ etc., are also constructed for sums. when $n=3$, the visibility of these sums will be:

$$\begin{cases} \varphi_3(\tau_{t_{12}}; t) = \varphi_3(t_{\tau_3}; t) = \varphi(t_1, t_2, \tau_3) - \varphi(t_1, t_2, t_3) \\ \varphi_3(\tau_{t_{13}}; t) = \varphi_3(t_{\tau_2}; t) = \varphi(t_1, \tau_2, t_3) - \varphi(t_1, t_2, t_3) \\ \varphi_3(\tau_{t_{23}}; t) = \varphi_3(t_{\tau_1}; t) = \varphi(\tau_1, t_2, t_3) - \varphi(t_1, t_2, t_3) \end{cases} \quad (9)$$

(6), as a result of adding the two above mentioned systems and $\varphi(t_1, t_2, t_3)$ this

$$\begin{aligned} \varphi(\tau_1, \tau_2, \tau_3) &= \varphi_3(\tau; t) + \varphi_3(\tau_{t_1}; t) + \varphi_3(\tau_{t_2}; t) + \varphi_3(\tau_{t_3}; t) + \varphi_3(t_{\tau_1}; t) + \\ &+ \varphi_3(t_{\tau_2}; t) + \varphi_3(t_{\tau_3}; t) + \varphi(t_1, t_2, t_3) \end{aligned} \quad (10)$$

we form a cycle. In general, the appearance of this mirror will be as follows.

$$\begin{aligned} \varphi(\tau) &= \varphi_n(\tau; t) + \sum_{p=1}^n \varphi_n(\tau_{t_p}; t) + \sum_{\substack{p=1 \\ p < q}}^n \sum_{q=1}^n \varphi_n(\tau_{t_{pq}}; t) + \dots + \\ &+ \sum_{\substack{p=1 \\ p < q}}^n \sum_{q=1}^n \varphi_n(t_{\tau_{pq}}; t) + \sum_{p=1}^n \varphi_n(t_{\tau_p}; t) + \varphi(t) \end{aligned} \quad (11)$$

Checking the correctness of this statement is not as difficult as stated above.

Checking the correctness of this statement is not as difficult as indicated above.

Let us divide the members of the sum (4) into two groups such that each group is described as a subtraction of functions that differ only in one specific argument. In the sum (4), the number of such groups is 2^{n-1} . On the other hand, the number of groupings will be exactly equal to n .

For example, for the sum (4), When $n = 3$:

7

$$|\varphi_n(\tau_{t_{pq}}; t)| \leq 2^{n-3} \prod_{k=1}^n A_k^{\frac{1}{n-2}} |\tau_p - t_p|^{\frac{\alpha_k}{n-2}};$$

$$p, q = \overline{1, n}; \quad p < q \quad k \neq p, q \quad (15)$$

$$|\varphi_n(\tau_{t_p}; t)| \leq 2^{n-2} \prod_{k=1}^n A_k^{\frac{1}{n-1}} |\tau_k - t_k|^{\frac{\alpha_k}{n-1}}; \quad p = \overline{1, n}; \quad k \neq p, \quad (16)$$

$$|\varphi_n(\tau; t)| \leq 2^{n-1} \prod_{k=1}^n A_k^{\frac{1}{n}} |\tau_k - t_k|^{\frac{\alpha_k}{n}}; \quad (17)$$

We write the first of (3) through the sum

$$|\varphi_n(\tau_{t_p}, t)| \leq A_p |\tau_p - t_p|^{\alpha_p}, \quad p = \overline{1, n} \quad (18)$$

note that for cases $n=2,3$ we obtain estimates for the same sums:

$$|\varphi_2(\tau_{t_p}, t)| \leq A_p |\tau_p - t_p|^{\alpha_p}, \quad p = \overline{1, 2} \quad (19)$$

$$|\varphi_2(\tau; t)| \leq 2 \sqrt{A_1 \cdot A_2} |\tau_1 - t_1|^{\frac{\alpha_1}{2}} \cdot |\tau_2 - t_2|^{\frac{\alpha_2}{2}}, \quad (20)$$

$$|\varphi_3(\tau_{t_p}, t)| \leq A_p |\tau_p - t_p|^{\alpha_p}, \quad p = \overline{1, 3} \quad (21)$$

$$|\varphi_3(\tau_{t_p}; t)| \leq 2 \prod_{k=1}^3 A_k^{\frac{1}{2}} |\tau_k - t_k|^{\frac{\alpha_k}{2}}; \quad p = \overline{1, 3}; \quad k \neq p, \quad (22)$$

$$|\varphi_3(\tau; t)| \leq 4 \prod_{k=1}^3 A_k^{\frac{1}{3}} |\tau_k - t_k|^{\frac{\alpha_k}{3}}; \quad (23)$$

References

1. V. A. Kakichev, "Boundary Properties of the Cauchy-Type Integral of Several Variables", Scientific Notes of the Shakhty Pedagogical Institute, No. 2, Issue 6, 1959, pp. 25–90.
2. Ghoziev, R. Mardiev, "Boundary Problems of Analytic Functions and Singular Integral Equations", Samarkand, 2014.
3. N. I. Muskhelishvili, "Singular Integral Equations", Moscow: Nauka, 1968.
4. S. G. Mikhlin, "Singular Integral Equations", Uspekhi Matematicheskikh Nauk, Vol. 3, No. 3, 1948.
5. Urazaliyev, Sh.B., "Existence Condition of the Cauchy-Type Integral with Several Complex Variables", Gospodarka i Innowacje, Vol. 34, 2023.